I have 3 green counters and 3
orange counters.

Together I have 6 counters.
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I have 7 silver coins and 2 bronze
coins.

Together I have 9 coins.
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I have 9 smarties. I eat 7.

I have 2 smarties left.
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2+1=3 so 20+10=
6+3=9 so 60+30=_
5+45= 10 so 50+50=
4+4=18 so 40+40=__

I have 60 green counters and 30
orange counters.

g Together I have
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counters.

I have 70 silver coins and 20 bronze
coins.

‘ Together I have
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coins.

I have 90 smarties. I eat 70.

. I have smarties left.
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8-1=7 so 80-10=___
10-4=6 so 100- 40=___
9-8=1 so 90-10=___
5-2=3 so 50-20=__
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